Tablas de Disenos en bloques incompletos

balanceados
K| R| J | A| Nodeldiseno || I | K| R| J | A | N°del diseno
2131|611 1 T 26211 11
3 3 4 |2 2 3 13| 7|1 12
2 4 (101 3 4 14| 7|2 13
316 |10]|3 4 6 6|75 14
4 | 415 |3 5 81 2| 7]128]1 15
215|151 6 4 | 71143 16
35|10 2 7 7| 7|86 17
311020 4 8
4 10| 15| 6 9
5156 |4 10
Disefio1: =4, K=2, R=3,J=6,A=1
Bloques Rep.I Bloques Rep.Il Bloques Rep.III
(1) 1 2 (3) 13 (5) 1 4
(2) 3 4 (4) 2 4 (6) 2 3

Disenio 2: I =4, K =3, R=3,J=4,A=2

Bloques Bloques
(1) 1 2 3 (3) 1 3 4
(2) 1 2 4 (4) 2 3 4

Disefio 3: =5, K =2 R=4,.J =10, A\ =1

Bloques Reps I, IT Bloques Reps III, IV

1) 1 2 (6) 1 4
(2) 3 4 (7) 2 3
(3) 2 5 (8) 35
(4) 13 (9) 15
(5) 45 (10) 2 4

Disefio 4: =5, K =3, R=6,.J =10, \ =3

Bloques Reps. I-III Bloques Reps. IV-VI

1) 12 3 (6) 1 2 4
(2) 125 (7) 13 4
(3) 1 45 (8) 135
(4) 2 3 4 (9) 2 35
(5) 345 (10) 2 45




Diseno 5: I =5, K=4, R=4,J=5, A=3

Bloques Reps I-IV
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Disefio 6: 1 =6, K =2, R=5,J =15 \A=1

Bloques Rep.I Bloques Rep.Il Bloques Rep.III
(1) 1 2 (4) 1 3 (7) 1 4
(2) 3 4 (5) 2 5 (8) 2 6
(3) 5 6 (6) 4 6 (9) 35

Bloques Rep.IV Bloques Rep.V
(10) 1 5 (13) 1 6
(11) 2 4 (14) 2 3
(12) 3 6 (15) 4 5

Disefio 7: I =6, K =3, R="5, J =10, A = 2

Bloques Bloques
(1) 1 2 5 (6) 2 3 4
(2) 1 2 6 (7) 2 3 5
(3) 1 3 4 (8) 2 4 6
(4) 1 3 6 (9) 3 5 6
(5) 1 4 5 (10) 4 5 6

Disefio 8 [ =6, K =3, R=10, J =20, A =4

Bloques Rep.I Bloques  Rep.Il Bloques  Rep.IIl
(1) 1 2 3 (3) 1 2 4 (5) 1 2 5
(2) 4 5 6 (4) 3 5 6 (6) 3 4 6

Bloques  Rep.IV Bloques  Rep.V Bloques  Rep.VI
(7) 1 2 6 (9) 1 3 4 (11) 1 3 5
(8) 3 4 5 (10) 2 5 6 (12) 2 4 6

Bloques  Rep.VII Bloques Rep.VIII Bloques  Rep.IX
(13) 1 3 6 (15) 1 4 5 (17) 1 4 6
(14) 2 4 5 (16) 2 3 6 (18) 2 3 5



Bloques Rep.X
(19) 1 5 6
(20) 2 3 4

Disefio 9: I =6, K =4, R=10, J =15, A=6
Bloques Reps. I, II Bloques Reps. III, IV

(1) 1 2 3 4 4) 1235
(2) 1 456 (5) 1 2 46
(3) 2356 (6) 3456
Bloques Reps. V, VI
(7) 1 236
(8) 1 345
(9) 2 456
Bloques Reps VII, VIII Bloques Reps. IX, X
(10) 1 2 45 (13) 1 25 4
(11) 1 356 (14) 1 346
(12) 2 346 (15) 2 345
Disefio 10: I =6, K =5, R=5,J=6, A=4
Bloques Bloques
(1) 1 2 3 4 5 (4) 1 2 4 5 6
(2) 1 2 3 4 6 (5) 1 3 4 5 6
(3) 1 2 3 5 6 (6) 2 3 4 5 6

Disefio 11: I =7, K =2, R=6,J =21, A=1
Bloques Reps. I, II Bloques Reps. III, IV

(1) 1 2 (8) 13
(2) 2 6 (9) 2 4
(3) 3 4 (10) 3 5
(4) 4 7 (11) 4 6
(5) 15 (12) 5 7
(6) 5 6 (13) 16
(7) 3 7 (14) 2 7

Bloques Reps. V, VI

(15) 1 4

(16) 2 3

(17) 3 6

(18) 4 5

(19) 2 5

(20) 6 7

(21) 17



Diseno 12: I =7, K =3, R=3,J=7,A=1

Bl?il)u e T 1 Bloques

2 2 3 5 () 5 61
(3) 3 4 6 (6) 6 7 2
(4) 45 7 (7) 7 1 3

Diseno 131 =7, K =4, R=4,J=7,A=2

Blogues Bloques
(1) 3 5 6 7
(5) 2 3 4 7
2 1 4 6 7
(6) 1 3 4 5
@ 1257 7 2 4 5 6
4) 1 2 3 6
Disefio 14: I =7, K =6, R=6,J=7,A=5
Bloques
1) 1 2 3 4 5 6 Blogues
(5) 1 2 4 5 6 7
20 1 2 3 4 5 7
(6) 1 3 4 5 6 7
(3) 123 467 (7) 2 3 4 5 6 7
4) 1 2 3 5 6 7
Disefio 15: =8, K=2, R=7,J=28 A=1
Bloques Rep. I Bloques Rep. II Bloques Rep. III
(1) 1 2 (5) 1 3 (9) 1 4
(2) 3 4 (6) 2 8 (10) 2 7
(3) 5 6 (7) 4 5 (11) 3 6
4) 7 8 (8) 6 7 (12) 5 8
Bloques Rep. IV Bloques Rep. V Bloques Rep. VI
(13) 1 5 (17) 1 6 (21) 1 7
(14) 2 3 (18) 2 4 (22) 2 6
(15) 4 7 (19) 3 8 (23) 3 5
(16) 6 8 (20) 5 7 (24) 4 8
Bloques Rep. VII
(25) 1 8
(26) 2 5
(27) 3 7
(28) 4 6



Disefio 16: [ =8, K =4, R=7, J =14, A =3

Bloques Rep. I Bloques Rep. 1I
(1) 1 2 3 4 (3) 1 2 7 8
(2) 5 6 7 8 (4) 3 4 5 6

Bloques Rep. III
(5) 1 3 6 8
(6) 2 4 5 7

Bloques Rep. IV Bloques Rep. V
(7) 1 4 6 7 (9) 1 2 5 6
(8) 2 3 5 8 (10) 3 4 7 8

Bloques Rep. VI
(11) 1 3 5 7
(12) 2 4 6 8

Bloques Rep.VII
(13) 1 4 5 8
(14) 2 3 6 7

Diseno 17: I =8, K=7T, R=7,J=8, A=6
Bloques
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